N 2 VE
= S N8
S N o m = g
S s S o e o 2 w o 4 g
RN y & z £ ¥ r O {
N R S = = s T & T O =« > g | |8
o = = o < 2 o m s |3 a 2
2 ZK .Jymsc = [5Y — 5 A o0 g g 2
VI. N 2z3¢ g 5 em = = e _|_._,.E2 N = = e
MD S 2a3 2 2 g5 2 S = 8 g = N 2
N N XN o v = 2 -_ N & 2 e 9 U)
S 3 ) = . N @) e
S SIL .5 = 2 5 S5 F 8= T > S 3
Ly =S e N S g Sz o5 £3¢ = N =5 >— g5 g
20 o &n < mZ =3 < 3] o =D
> [ =
"V SN 2 8 5="8 = = S o 2=z s5W < £ O uj Q) | =3 £
D ) S S8 &= ago o B o O B o o © s8%8 xx O C o - <
S S S &g 8.2 5 QO S S 9 = = S¢ee N X o 5| 88 2
=S ELELE : £z SE§ g£E % §is, QuUN 8 | "% g
< 85 < SZ2I8 5% 22 S8%_$Z2¢ el Nz DO 7| s °
S < NEEES,,omes EE £FS8z25% g5 FXooO 5
~ NESEN SS893388552 ssessgiced = g| 3238 oz = < 2
Z B 2 2 2 NQ35.Ca & & 3 5.8 8 =] ov e - S g
) S 8383 = 8528 S=>s 22 88358 5 = = 2 = LRE® - < W I 2
Ny MUW 555558 PRz NE¥2E8=52282 EETE<Z| ol C_awm IR R
C ] 5 2 o X
Q Sz g2coFzeeegggggegee | OOXA/_HH Dloo | 2 N
N SSS5SEESSSEEESEESEEEEEECOSTaMS - g
e e et on o0 b= g
N WB 2552858 EEELNY2Sgc588k¢8 8 O35 = P £l g2
SN BEEEEEE8 T 82288822220 o o IR ¢ NWB% <C 5y
<G SM oo s 220y as & S Z =y O £ £
SEN EEEEE55888nEEEEEEEEERS §&._F ol X3 Nx — B2,
P MO 1 .....................m M*v..mﬁn.vvu M M DZD P n_m
Q «nm.Jth N A S
T =z!|i I I s et gl,EE22: |EN 2=z
- Lbb ) EHERE Bl 29 922sz| I o = ¢ i x|
) = ElHHHE S|l 522 o oF T & ] £z | ¥2 |8
) | [ = A S o= B8R e z3 | 23 | %
SR = 51 I i O ygalalats Elg=Z2 2238 & s € g 3128 |8
&} [ il S| & = = O s S £o | gg | =
> = _ . Shlehi HEEEE R R u 2 iz S8z
Q] S0 b ETEEEE S 8 T 2¢ | Bz |5
\ .
Yl / 7
/
51 / v 3
5 \ \\ x
5 7/
\ / e
\\\ /e CTTe——
© ///
l° T — e N
—— —_— ~N

RIllb
-~

=

PslV

T - —————/

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
/
/
/
[
|
I

N
N
AN 2
N 7
AN //
N N
N N
N N
N N
N N
N N
N N
N N
N N
N N
N N
N N
N g
g N
N
N
N
N
N
N
N
N
N
N
N
N
N
N
N
N
AN
// N
N ” ~
AN
N -
N

3}
~
4.1
-
=5
54.0

54.08

DT =5018r.

poziom lustra wod:

=

odczyt na wodowskazie 0.30 H:

r.
‘odczyt/na wodowskazie 0.30t

forh lustra wg

pozi

z dnja 10-11-201

/

3.8
-~
-~

5552400

ubupuubuliubulug
-r-

g
|
I
I
I
I
I
I
N\

Uy
—

r uiuuuia b
caEty

159.6
20,86
20157

6+159.21

5759357.3418

5552237.8122
R =600.0
311.93
A=2919

W5

Km PP
Wsp.N
Wsp.E

L

Sieczna
Strzatka

Styczna

PG
ArC
wreprd gospod 7
. L) -
ProlkOT el
“®+O©w -
Ko —
llllllllllllllllllllllllll l.\\\
\\
\\\\\
\\
\\
-_ \\\\
’’’’’’ - —
’’’’’’’’’ o \\\\\\\\
\\\\ \\\
_— -
\\\\\ \\\
”””” \\\\ \\\
////// — —
\\\ %ﬂm\-/wmz =
- foé% C==
—~
_- AT -
\\\ \g“\mma e
—~ \\\ \\
- \\\\\ \\\\
- _—
\\\\ \\\\\
\\\\ \\\




